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LEGH-3i (50 568 & wIHUSLOS Coiay)
Part-A (Tamil Eligibility-Cum-Scoring Test)

eflesnéssn  : 1-100 Gliongs wlublLsmes: 150
Questions : 1-100 Total Marks : 150

1. e (hiSldgrens FrasEneT (pSarag s eramemUuhiln e
(4)  smprgng B) goenmm
(C)  podlena (D) uflume
(E) «fen_ Qsflweiidene

a Sishlananrh, LnsHenarmul Criggs spb e feEsmens mrd ey 2
(A) uflom (B) b e
(C) suspom (D) uilbmosg
(E) eflen GQaflweiidene

s saprer Gearewug Ssiay Dals
(A) @Efgd — aban
(B) apoverey — gmeumpenguwin
(C) wmst — grbGurdumt
(D) Qpiias — bgpaet
(E) el Qafweldama

4. Aeemauaabpd sgaupraass Catrey Aol ;
(A) swuir Copuphgnila Apsseur
(B) swuey sysflés eudread fssand
(C)}  spsaud spsrdaw Bupiluet sbum
(D) swurg smeth &0, Uetel pam_mb mihpre 5
(E) &flan @afusidema
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5. ldsdeus Gaellell - Fleodsamd @iy
(A} eeuew (B) =msmataemi
(C) eratmrambents (D) e (meusib
(E) dla Gsfwueidame

6. @erGod wrenemGurT saT_Bord Senensibiamen
myefm_ned Eelieurer aflanen
- Eeveuy seflcy enssblamenmy — Wumpmer wrg ?
{A) ueL sauFb (B) ven smellsadr
(C)  seullunme (D) cuellenowiman syuysth
(E) eflen. Qafliualsbena .

s 8 upmiE ubpborer hblenar sl benm
ubmes upm sl — agiens aensas s saaib.

(A) Gumfioy ergens
(B) smeny ergens

(C) Cupsgeumis asems
(D) Epssgeumi agans
(E) dfler Qeflueciidana

8. ‘sypslsrare eréwmmd SuptCumd, @podSaus’ — @bs Sl senwbgsren
erglensaniid hairs.

(A) smenyp agas

(B) Cupsgieumls agpems
(C) Bpssgeini amms
(D) Qumfliiy agies
(E) cRen Glsfwaldenas
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12.

gancllenear aursdlugms Gaipdsbss

(A)
(B)
(©)
(D)
(E)

=l s Bremoamn Snsedldme.
2L # Sy EET FTETDERT SOOI,
LI Bl HET BrETLEnm SHmTrr?
St d sigsdr prevoenn silgsnt.
affeni Gsflwehldane

Eledsans Ghllus s : slemsul Hbgen

(A)
(B)
(©)
(D)
(E)

2 LbanLod s mans
Cluemumed Guwfsar
e gL
enllnmistdsras
eflen. Ggilwueldene

g, sa apsedlu e AEQemhsafldr Ger audeilamd

(4)
(B)
(C)
(D)
(E)

BrbLEsI@D — ey GemagysE v Gassan GHILY SHs

(A)
(B)
(©)
(D)
(E)

(6@

Wl

Fleo Blrbiseildr aumib
S @ imatlan augmgl
eflan_ Ggfwieilaae

geud edlenarphm

e MeCend: Gmmo
LiamL g E srens
ehlenendhldarans

eflan GlEflwalldrens
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13.

14.

15,

16.

17,

Uereumin Ham fgydare Bapara daappaps Caray Gaws?
(A)  Lwss Lpd

(B) wppisih ugpid

(C)  uppsslanpg

(D) uptisen u(gdsen

(E) efen Gsflusilcsens

v eramm Geufdllendella: Empm dlenear afsfeng o meumkEs?
(A) uaps (B) uiggss

(©) unss (D) unr@ged

(E) &Aen Ggfluscldens

s engbd Caurdlerddldr ush syfls?

A) sppé (B) spuenen
(C) =awmen (D) same
(E)} eflen_ Qaflwelldanss

“Buaureny” Garsbsmawfls
(A) @Gwa (B) @uay

(C) @ewy (D) @uw
(E) e Qsfluclaena

‘e’ sremm gLrupss am Gwmgluiler Gumgpar

(A)  seraeuds (B) Gpmoy
(C)  myyein (D) by
(E) el GafMusidama
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18,

19.

20.

21.

22,

gg@u.ph um_g Geflyn - Garflad sder Henpenw G4 sfluren Ggm enyg
A A

(A)  mudlssl L sGsflun

(B) @pdluflar um_gEgfuyb

(C) e um gGsAuyb

(D) spdwrd urgEsMub

(E) e Gaflueidana

gifps Qerdensd s fis

(A) signd (B) msen
(C) &Guren (D) wetinpg

(E) &l Gaflwsiidema
Clummisr Dlevaranud & Hs

(A) @wflgefl — wmob
(B) ppaens — wrene
(C) wmsb — bamusd
(D) Gpiss — eduni
(E) &flen_ Gaflueiideana

\fleaos — arfiFbdend srens :

(A) Blens (B} &
(C) cllans (D} mnen
(E) aflen Gsflwsiidana

saatbedd] sl Ger eupdeara — Fismmemfu sfurer afdirdbenbamans
&(HE.

(A) soesblsded s Henr eqphledr

(B) saarbsad sl Gy eps &bimbusldaana

(C) seasfbsaddl s feny epsmae Fgmer

(D) sewebsdd s Har eunfldseddamsy

(E) eflen Gafusiléema
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o3, Gurmsss

Geutymienio 2 (L
(a) preérsmb Gaudmern 1. (@er
dﬂ mismb Gappew 2. am
(€) wpmbd Caupmens 3. sew
(d) awpmbd CGauppeno 4.
@) aBy e )
(A) 4 1 2 3
(B) 3 2 1 4
C) 2 3 4 1
(D) 1 4 3 2

(E) dlear GQzfluccene

24, Spbsen smppdsene sfluterapeans Cata Qeis

1.
o
3.
4.
(A)

(C)
(E)

smywmeneut Snbs ear preadiucigerd wral L ghlgdrer LpCaharE
@eur ameuh £.9. uflGen L mb FErHmIETE
srywreneu Smoum e STl E aenug Eeult erapflu g

Smefleann  spatm eflswmaEmmng CeguBulil b smapar  SepauarTEL
westiwmhdluseud

1, 4 &fl (B) 2, 3 &f

2, 4 g (D) 1, 3 &M
ablenL Glaflwsildana

25. gmywraneut gphflu vl erg?

(A)
(B)
(C)
(D)
(E)
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26.

27,

28.

28.

Qearermindfiss aurerpdla wrmeoew Suwr Haads Bbed aem snbdlugse
¢Sl smarmit 2

(A) Awsaud

(B) #deamawmg sudrafiuibento
(C)  sgrewndlprenfl

(1)) BTEHLD LD

(E) &fla Qafluelldanea

e sl o rET@L LT aeumss sb OsraaCpradurd sdn iy Gerenareul
w2

(A) sSSCwn

(B) BCsradlynic
(C) &.ell, Grmoen

(D) smodw spebair arig s
(E) sflen Qaflwehlchena

sullps simbueat bl sGliofssl Gummdlflwrseild gemaun
(A)  =ymops et

(B) G Qemeneol men

(C) Gaphbelo Sgmiism

(D) &y Cumd

(E) &flen Qsfluelldeana

“@ats g slp wreraen o pids Qerangmadpre ey S sl
s Glsmsmarali wim?

(A) srafGleud (B) gy Gumy
(C) sfimorppefiaud (D) Qageed
(E) eflen Ggfiuiedldanay
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30. “dpen QenGuorgfl solpQomnd o osb
Coumenflu prarapsd o uSiirGiomd” ereng
gullifler Gumenwanul Leperhblued wiri?

(A) unaieGry GuesdsBren
(B) Gumdisenp gt

(C)  CQumsmeued

(D)} urCaubst urydgneen

(E) dleor Gsfludbivana

31. ‘gienr wrenflésd’ ednug Beufler @uwhGuwr
(A) sclgstr snan (B) scfigni Lomen

(C) unmpfigneen (D} Gumesfas et
(E) eflen Gfiweilcensy

32, Horele. Qumflsefier ielhen vhsafiuys Geisaiseia O Esdesa i

LI

(A)  #l.enau. grComgmb

(B) s su. wreflssb

(C) Qs Qum Samrcdl sisyenm
(D) &, CakisLsmf

(E) eflen Ggflucidena

33. uidunpsmagt B gd aps wraCurdef ceagud Basawps Csmn td magseait

Lt 7
(&) ap.d. whremedlimd
(B) @Gs. Qur. Berm” i sEgmb
(C) Gs. &f. sueuwr
(D) erdo.afl. @rmoseums
(E) e Asfluciaama
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a4,

35,

36.

a7.

“smsmiu ardlug pog fppmemBe swasms sudgausie am sgenpband”
eTerd Snghluiaul w7

(A)  shsiaue (B) mrgrfles Fmoen
(C) umewlAgsen (D) euamemrsmeen
(E) el Qaflueldana

AarosrndusSa prosn urslare oarrasendE Haossamd aEss Ewd
(A)  wnSwe

(B) @ummefiwd

(C)  Guoginim’ig e

(D) seodilua

(E) dlen Gaefusiideana

Liardamrnip) saubsih SnarEGarE smugund umBh s w7
(A) mmosésena (B) mmimuwésana
©) @asisae D) gellussame
(E) cilen. Qeflweidema

‘L g Boliap - ofld apssfiefa wansb @ sasy — adam
Fa et

(A)  efwemn

(B) =smid

(C) bCussd

(D) op. supgrreemy

(E) eflen Gaflwelldeme
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g8 sllps spfdr zuflp aertéfsmenn ufls Qupp srsrefler e eng 7
(&) geopepsbd
(B) saumib saramrmibyb
(C) GCsemosnyp
(D) sgsreflen ssilangsen
(B) eflen Gefuehidana

39. "@riecsferal Gurd @eanils awrphsst Gfgsre Qummeidema..” edny

LImig e i wimir 7

(A)  sogm (B) ap. Cuoggn

(C)  smyr Ly D) ewugs rgomen
(E) e Gsfudldme

40.  umpdlgraennt @upiu pros g ag?
(A) sawremdl Ll fs srobunb
(B) Gégrpeswnt
(C)  saumd sememmmiyb
(D) wramgwen ufls
(E) e QuMieBaema

41. pmoksd selgnmas “gouesan” dflmg suphidls ApldEss wrrs
(A} pHeuamys
(B) wrfle sirs
(C) eyhifla sirs
(D)  NCQrgra sars
(E) eflenr Glsflwalidena
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49, Agsieafon b Assrrs smstLBHUT LT
(B) fmapai
(D) Cmmrasi

43.

45,

(A)
(C)
()

LIMBLITL ey & & T
Gumsi

aflen_ A el doanen

‘e Gy’ erppdlu ‘Brsfu anfl’ aap preves sipel Beueflahs mrd

(A)
(B)
(C)
(D)
(E)

wibenmenoaiiuh
S EHHLID
@pﬂmd}

(SHEETHTE
ahilenl Gsflueildana

wEarranoafiusens Elwphlueu

(A)
(B)
(C)
(D)
(E)

Gemdeny Lggeuth — Savenengsulyfler erpsl Lmeuwns alleThigAmg 7

shEMD Sdrenar
ShsT (paflauit
FhST

shaT 1piss

aflen Clsfwehldaanea

()
(B)

(C)
(D)
()

@reim_mb Lheb
@ESTD LHaILD
APSDH LiFauLD
RSP LigHeuD
alent_ Glzfiishldme
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46. Cufluygrengdbe Geadpriic L o Quuk

(A)
(B)
(©)
(D)
()

SleuGlmrar_ir yrresrid
FlEueme WM Lyiesrid
Slim&Qsmeior i Lpmemmb
Qgmair_ & |jpreamin

ahilenL Gaflwefdena

47. shsrbSdraaenuy Curpy apswnss sllps s Bsilug wrg?

(A)
(B)
(©)

(I
(E)

LidEens0ss| Db
SiTFaneus Sallgri Loawt
S MEFL_L_Gnar
Gurrdifiuf Lief]

ailenL Glafweldema

48, Gummendibs Hurmnigs ;

(a)
.(b)
(c)
(d)

(A)
(B)
(C)
)

SL_GET 1. a&pg

ETetT(s 2, &m_f

eudre i 3. Qufiw wrenar
(ol Ml aamb 4. safepomen HELb

(@ ® @ @

a4 1 4 2
1 4 3 2
1 2 3 4
1 3 2 4

(E) eflen. Qsflwelldene
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49,

a0,

Bl.

5.

ai.

@an_aGsfuvldr smgs gaad] - @mar_aGss, meuafldar Goum Huwd
(A) w@sGad B) ussen

(C) swsfan (D) wrseh

(E) eflen Qafluciidana

sabfugse b webess sribs sipedl?

(A)  swend gipel (B) Guerggs gmel
(C) Aevamdus sped (D) ensau gipel
(E) &flen Gasflueleanes

Aawviudsrrdden Gerrsflurs smesLUED KL wrg?
(A) Fasdtgmoenfl (B) wefiGuosaa
(C) wen_aGss (D) FaCGsd

(E) efflen_ Qgfweidemea

“api srartuGeug wrlsars Gal G
pmelrg Bl Cudr | - wenggunts Gadembd
eosltTig i, 2 el ub, s ampuienbd”

Beveumar @b Qumib mrd engl?
(A) Hanby

(B) swbu Grmomued

(C) valCozaa

(D) @Qufw yrrer

(E) sllen. Gsfwehlsena

EnhEsTas prefler ‘U — auehe wWrg T

(A)  salluur (B) augsdlinmr
(C) Geuamunm , (D) sisaumun
(E) aflen Gafweliems
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54.

ad.

a6.

a7.

Slguser, mrullenen Gamd Glemly spigs Cuir

Sy lueh, Sbein saar fnsSemen

— B bl b M sul wmro

() Gomoen (B) @Bad@eauen
(C) gguoen - (D) w=ar

(E) eAlen Apfweidema

LSl erein fih s s FrsEmaT e
(A)  pibfensar (B) @sfgsfoum @
(C) uflum_d (D gand)

(E) flen. Gefluecidana

Gugrapssemuiad upfiu Eilliyse Senwhgerer [EAED wimg 7
(A) Eenar probus

(B) prenseafssies

(C) IR0 L ITT

(D) HAmugseapsab

(E) eflen Qefusidena

seeilde cilardsns elamigalgy egGedmpred seursafliin o drar

2.
(A)  mhuem (B) pbemanmi
(C) usp (D) parBeameaniisar

(E) e Gxfwslidaema

Qurgundlen Fludsd

(A)  umBmb, @aapailug, gpapefud, sambuidh
(B)  awfud, smsdud, auidiua

(C) sarellud, sdBud

(D)  umBpefld, arfud, sare@uwd

(E) cfleni. QaflweBdena
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9. Baniyamy Csrér erep o suenog A5t Qungmdr s(ns.

61.

6.

(A)
(B)
(C)
(D)
(E)

Qgetrenen Gumamn Gardr
pafitieg Gurenp Ggmer
ppiadles Guremp Ggmanr
eumanyy  Gumewn Gamen
silen Ggflualdena

Speflenens QerhEnm srs sam_fis.

(&)
(B)
(€
(D)
()

eryierd Hediudanmb apprer
eryfleordwimes Heluflamm mmﬁletsuu@_@
erflardl Aeovnudsrmd sdard

enfleor Aatiudsrmd siSgsrd

alenL Lefuaideaa

gruQumflew =ulgmsl Gurrmgjmrrg;u g

@umrgswman eunssiubens Gl

(A)
(B)
(€)
(D)
(E)

RAGE
SjuhHEahp arsdliib

Crrémbm eursswib

HEIE GUMaElILILD

srdifoann eurddlwib

eflan Glgfhuslidena

ungdlior dipssndr shilisredr

(A)
(B)
(C)
(0
(E)

gemehlenan cumidluib
Gedicilanar suméSuinb
Sipetlenen aunsblunbd
Qewiur’_Hellener eursdlh

ehlanL Glgflwebidena
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63, <oeuan Hgflanmumrer — ereusuans Gluwr
(A)  @ams Quwi (B) @Lo Quuwi
(C)  smes Guwi (D) Gsinge Quui
(E) sflen_ Gafiueidena

64, Saupmenw egenu Bmanis Gariar gueiigubsd aipss

e menTal F&eT aul_L1bnE e U &nrF Gsdis.

(A) wreweufrsdr ol &y eul L inmes Qadis

(B) wreweafsarer el i wons o | sryd Qedis

(C) wremeutsamer o smy sul L inrss Gelis

(D)  wresrsutsamer GELE el Lbns o smm
(E) e Qsfluedomen

65, Gerpaeer guaeu®ss QerplprréEse
(A)  wrener Bz wenaulen wany GuiLss Gppp
(B) weaullear wree by Crpp Quiss wey
(C) Crom wrevar weafer Bg wap Guiss)
D) Quigg weny wenadar By Crbmiwrana
(E) eflan. Qaflweildana

66, =war auflanaiiuig Esrsg}ammé Frtlslg arupss.
(A) Qanewenp, GasmenL, s, £ran, smenL
(B) Gsamen, £rer, Glsmehenm, srenL, seim
(C)  weiw, sren, Eyenn, Qasiren,, Dsrerany
(D)  sam, £yén, srenL, Qarenenn, Cssirent
(E) <Benr Gzl e dsenas
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67,

68,

69.

70.

QerdgpsCahn Qunmardls

(A)
(B)
(C)
(D)
(E)

susilenis — Hawenun

mranr — serevemdgfiriig
SMEN  — L

glemll — gemub

silen Geflwsiiceans

silwmen @aananus Caiblbsn

(A)
(B)
(©)
(D)
(E)

weny LoEnD
wren  — Geugib

STDENT —  Ljcie
Gaugid — Flud
WITERen —  LenhHSeD

ehlen_ Gmilwselldene

Qleggréen (Xerox) erenp phidlos Qerdass Crrman sullipsterd

(A)

(€)
(E)

el maeDh (B) el pame
yFD LI th - D) wm uLb
eflan Glgflwehlseaa

“or” e@rupss s GurBulan Gungmea

(A)
(C)
(I)

Gl (B) @men

RumETLD (D) =npe
effen Glgfluelldhanan

14 XXXX2021
[Turn over



71. urapaml - GfgEsess
(A) ung + s + smi
(B) ung + sipami
l:l:';] LmEf + sm
(1) unmg + & + smd
(E) eflen Glefuelldrena

72. @upflenn - OfsCswpss
(A)  eu + Blamin (B) enu + Eewnd
(C) usenn + Bewmb (D) useno + gewnh
(E)} eflen_ Qafliusdenas

73, “Pesbgram i yyremb” erenp e Gomfurd siepssOuGio e
(A) Amaleenum puygremb
B) Guxgiops mamb
() #meunrasb
(D) Quflwyrres
(E) cAan Qefuslcena

T4, PEDGE Fipipebenaou ot CuBrdmaun Garar. sEapurssermd e
Get ergy 7
&) mrEppm
(B) wnsQsras
() &dlgClzmans
D) umprenm
(E) sfen GlE el danen
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75, Seuprer Geew egl

T

i

T8.

(A)
(B)
(C)
(D)
(1)

etef s sl ~  eumiILLeT
apaaprses Geur —  Emod
=aEdis Sany —  EawEEml
GauumGsnphs ~  oTFLFFaf
cflenr Gpflusiiciane

QumEHETS Eenewr ergl?

(A)
(B)
(€
(D)
(E)

Guoiys, wenauflen Fimbe aubsane
Bipbs_elld eflenanpmena
alLnenaulid @mEg ubsH

Qgenam dlss @mEs Sa_ssma
dlen Gafwelldene

ST euilastiui(fisgs

(A)
(B)
(C)
()
(E)

EBSEID, LD

LG T
Eil (LlamE)
(P EE

Wlengs, wmiens, apfdl, poger, GCuob@toena

apfifl, ppgnt, Wer, Guop@ o, wmrns

wymiens, Wearg, apfdl, ppsnt, GuhEoene
unmiens, apdlll, ppgnt, Wars, GopEwoena

eflani Ggiflwelsienen

Glaerenm el senenhaetiGu e Gussrenr# erenguit usenpl dubhment wr
(A)  @rresil wrisibnmer

(C)

£l dveneniimly. SlETETILILDEILD

(E) el Gaflwebidenss

21

(B) mrendl giresd
(D) CauguErsdlmy

XXXX/2021
[Turn over



79

80,

81.

82.

83.

gnpsaile sumphswssdr alwmden GQuwt Garan® i@bps eefier Duwi eremen?
(A) sl e wimbuilig (B) CautinCenf

(C) yeflwbuiig (D) yeflwri@g

(E) eflen Qaflweidemea

Bpdu sirdlud seoius sl gas e manddy £AHs wriy
(A)  sbCugst (B) @ommmsd

(C) siamemmr (D)} smopmas

(E) eflen Qsfwehlcisna

it etremrrellen scilengsar 'llpulSLl’ aargid Blafia GeaflllL oo Hevar
@ ergl?

(4) eoos (B) zooa
(C) =003z (D) zoos
(E) efen.. Qaefwshdeanea

gl flé smrammdl erdnagh ssTapsaienw Geueflldll s

(A) gy Gumd (B) sSmorapefieu

(C) H.A. &megennGdvanen (D) gr.9. GegiSerenen
(E) eflen Qfluishldane

‘EGurdl’ eranggib Appat eps wrflaosfd adreg.

(A)  wrrigw wrleh (B) @_r,ﬁl}'rrﬁ wmlesth
© 55psT0 (D) sk i

(E) efen Gefluehidamea

XXXX/z2021 22



85.

2.

5.

8E.

ufl@hom seveogsT srenp CUTBDULLE S uie
(A) wepweamaLgsT

(B) o .Geu. smilmrs g

(C) &blGar. mwlluprmues srgdflumt

(D)  esuwryfcSdrener

(E) dfea Gaflwusiaena

“gfiG Waeab Ldruc L Gom@" erérg LrTT e wir?

(A)  sulldseuanben (B) wrés apebsot

(C) peeraur erlflGenn (D) efSsvaflund Cgprema
(E) sfleni Gsflushidana

‘Eerenpw  Gumfulud  adgiptsdt CGuaedil deuppisss alopapsens
AerédarnSuib spdldtng’ el wr?

(A) orss apevet (B) sramGeudd

(C) Gsdeo (D) enflGann

(E) &fenr Qafueidena

allenemuim’_ig el i iien, GET&ED ereimar ?

(A) Gumiyg (B) QurpsiCurss
(C) =L pubnd (D) epensn

(E) dfler Gaflweldama

SHEUT WLEID unTs@id UL Ssmalionus san@lSigdeat wirf?
(A)  erceunm® eow AfCS (B) eurénc afil_ina
(C) enmsen (D) &caw

(E) e Gaflusiicrenas

23 XOO0{z021
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89. “eupsg” Bsfeas Qenmd pder sl Besdu wpwarsfes s i
(A) Apa
(B) &.5. Gsoavium
(C) p Aésapisd
D) ap. Cugsr
(B) dlen Gefwciidena

g0, @pEEETGITEaD, EbHFow SpHleaiull UNTESTOLS S0 EieITTEa]h
uathurpfiu selgst wris

(A) =m0 pamworen (B) &8
(€) p. Assapisd (D) @or. Bamid
(E) e Gsflusiiaema

91, “an yddsr vatifleouyd gn Gpiosda yaaesouud ylssQsrde
ssrilads Craaiiufaddaa. urLgib sl sarar! aany sflueulr wirt
(A) . Goggr
(B) usaniwr
(C) 5. despprsd
(D) rGrrH sblpenien
(B) dle Qeflucldaa

92, “sfpasHen Caumnldveuts” srem Lurmml L OUED Sblp sefiest
(A) unpflsredn | (B) mrossd seblgni

(C) aurefigrsen (D) apyuipssn
(E) sflenL s w el doanan

XOK/2021 : 24



93.

94,

95.

96.

“aumbelleafip Gebmnoué Geliuausr BOw” e urisnad sllh anpsss ghme
AeramfidraT s g7

(A) sfpETE =rs (B) usiean sips

(C) GQmere s D) wtfla s

(E) dllan Glafluelldena

GartiCaraigsdt, ‘sen ) sysnen, snsgar BaTgiDUeeueT  erem  wWrengl
LTI L g | ET T 3

(A) mrgssgenri

(B) CGsrar GomiisGaa
©) Hopsse Coar

(D) Essenaré srgmenmi
(E) eflen. Qaflwellcens

aunfst, o, smutsea, gran sGapst santlpoamd spssiubuelt wmr?

(&) Aoprassyst

(B)  spmni

(C) #Smesrensbuhs’
(D) wrelsseunssd

(E) dflen GapMwshlanay

‘gitgpenand GpliniGs argeyGu GaGe!
erepiih mow saumpellGor LigreGio FaGa!
erepm LrLellem pffiw wirry

(&) e

(B) wmzstd

(C) = (s prymuarse

(D) L GaGan m sdwren sbarb
(B} efle_ GQafluciidaa |

25 XK/2021
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!}rf-. .H'.il"q:\."llhl, i .'i'.|||l|:"|.]|,..'|r
{.'"LIF Lt l.’l.'”IJ 1N
(")

;r.llll_.:,:,::_r" GYGET ) G|y NIRRT

Sledall@enn | sigm i
ey . e BT TR
(D) cannd LA

f;E] allent &p#lnmﬁlumahn:

98, sSmagmouTel - grald saogsce pnflesnd adrafidms wrg
(A) 596 | (B) 599
(C) 593 (D) 597
(E) s&flen Qsfuciidena

99. “pmler cumilelflit genenen FQyemT
séieh preflenrd padl afimGn” — Baafsda LbEupp Fre
(A) aumissg upesd
(B) &prelsmn ugenf
(C) =sdlfussgn Lipe
(D) ssswrsd uged
(E) eflen Gafluabldena

100. =funrefidr grsyTe gerene Geanpmss Spib G TEl?
(A) uvippouss

(B) uflum_e
(C)  ummrem
(D) =ssleEs

(E} e G‘E MwcHldoenen

XXXX/2021



LGS -3, (Qurg SPley)

Part-B (General Studies)

sileumnéast @ 101-200 Glinnges wdubluemast : 150

e

Questions : 101-200 Total Marks : 150

= e

101, The “Detroit of Asia” is

(A) Hyderabad (B} Chennal
() Mumbal (D) Surat
(E) Answer not known

“ s flunefien B pmil” erempenpdstiuin Gb

(A)  evamsrrung (B) Gssnenan
(C) apwenu | (D) @b
() eflen Qgflwueiidme

 How does Thiruvalluvar guide us to overcome trouble?

(A) Giving trouble to the trouble (B) Fighting trouble
(C) Accepting trouble (DY None of above
(E) Answer not known
FeTugmg erauaunyy e CouggmHib erenm Hmetdrigneui (S I CF T L
(A)  geniBbe memnih GeEnGbs® (B) el GummEpd

(C) etmgGw o i GsnanEy 5 (D) argfdaa

() sflen Qg filwelldeana

5% XXXX/2021
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103. In which model of elections, the President and the Vice-President, the

members of the Rajya Sabha are elected?
(A) By-Elections

(B) Direct Election

(C) Indirect Election

(D) Mid-Term Polls

(E) Answer not known

SliTas Samaeut whmb gener (GRuUTEs S, BrLmasosim  Guwedbsan

e midlan s (penn apeh GerbQshHaslin@Gddanpeart
(A) BengCaisdsdr

(B} Gpmgs Caigpar qpenp

(C) venyss Catsd wap

(D) @eLiumas Carsdadr

(E)  aflen Qs flueildema
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104. Which of the following statements is/are correct?
1. The term of office of the Governor is five years

2. He can remain in office till his successor enters upon the office of

the Governor.
(A} Both 1, 2 are correct
(B) Only 1 is correct
(C) Only 2 is correct
(D) Both 1, 2 are incorrect

(E) Answer not known

emaumih sppsatles eranay Filiumens ?
1.  penpilen ugals smad phg erhisd

2. a@spflen ugells srand pgevenips Gurdlgid s Gerent  aumHUsT

LgeflGub@Eib e ugeludd Qsmrdpr
(&) 1, 2 séu GrerGCo o

(B) 1 wi (G sl

(C) 2 wi@w =

(D) 1, 2 gdlu Gram@bo seup

(E) &flen Qafluedena

29 XRXR2021
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105. Match List I with List II :
(a) Right to equality
(b) Right to freedom

(c) Right to constitutional remedies

(d) Right to freedom of religion

@ @ © @@

(A) 2 3 4 1
(B) 1 4 3 2
(C) 3 2 1 4
(D) 4 1 i 3

(E) Answer not known

utiguwed 1 g IT o e Gunmags

(a) #pgseu o fenn

(b) &gpfly o feown
(€) erfweaoaldpsiul® ey
sragih e flano

(d) =swow ssgdr e few

@ b ©© @

(A) 2 G 4 1
(B) 1 4 3 2
(C) 3 2 1 4
(D) 4 1 2 o

(E) aflen Gafwiedans

XXXX2021
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o b

Article 25-28
Articles 14-18
Articles 19-22
Article 32

shlflaer 25 apadv 28 cueny
aidlsear 14 apseo 18 eueny

ciiflsdr 19 ppsdr 22 auany

afd 32



106. Find the simple interest of Rs. 7,500 at 8% per annum per 1 year 6
months

(A) 70
(B) 700
(C) B00
(I 800
(E}) Answer not known

m. 7,000/-55 8% anw dfzb gm wmen 6 wrishsgssrar gafl ulpaws
SITETS :

(A) 70

(B) 700

(Cy 800

(D) 900

(E) sl Qmflwaildaamen

107. Find the LCM of 3(a—1), 2(a-1f, [a*-1)
(A) (a+1) (@+1)
(B) (a-1F (a+1)
(C) &la-1)(a+1)
(D) 6la-1F (a+1)
(E) Answer not known

3(a-1} 2(a-1F, [4;2—1} ~ain By Glung oL ks s
(A) (a+1f la+1)

B) (a-1} (a+1)

(C) 6la-1)(a+1f

(D} &la-1F (a+1)

(E) eflen Qaflweldans

31 XNXX/2021
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108. The present ages of Reena and Usha are 24 years and 36 years
respectively what was ratio between the ages of Usha and Reena, 8 vears

ago
(A) 7:4
(B) 6:5
() 2:3
D) 4:7

(E) Answer not known

fewrm whpib 2 eqneflenr spCuramsy awgser apepGu 24 el ksd Wi mih

36 eumL kst eraflds 8 yemBeEise apany sasn whmh ferreier auwEsafiEr
efldlgd eretemeuns @)mbdmsEin?

(A) T:4
(B) 6:5

(Cy 2:3

(E) el Qeflusiaema
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108. A can do a piece of work in 20 days and B can do it in 30 days. How long
will they take to do the work together?

110.

(A)
(B)
(©)

(D)

- (E)

10 days
12 days
11 days
20 davs

Answer not known

A canueutr g Casaawu 20 pmlsefigus, B eauai =G Geuewaenw 30
micsaflgis Geig apgountsdr. sebdlmeaumb Caihy saGamanamwus Calg
APl da eTHEmEN BN ST SLEHID T

(A)
(B)
(©
(D)
(E)

10 mrsen
12 pm_sar
11 prisen
20 prisen
ehlenL Clmflwelldena

If 14 compositors ean compose 70 pages of a book in 5 hours, how many
compositors will compose 100 pages of this book in 10 hours?

(A)
(B)
(C)
(D)
(E)

12
10
8
7

Answer not known

14 méss Camtueisdr, D weall Crrafd o uSssidlen 70 vdsmsenen

guinf. 10 wefl Gergda, 100 vésmsmar  (pusSS TESEET  SHEES
sniuueisdr Gaenal ?

(A)
(B)
(C)
(D)
(E)

12

10

8

T

eflen_ Glaflwehldisnsy

33 XRXX/2021
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111. The

rate
(&)
(B)
(C)
(D)
(E)

Tl

population of a city in the vear 2014 is 1,80,000 and increases at a
of 20% per year. Find the population of the city in the year- 20167

2,400,000
2,69,200
2,050,000
2,564,300
Answer not known

EafEHen whsar Ggrans 2014-@ 1,80,000. mg galanrm swanfe 20%

Hum@omeme 2016-4ih suan(h wsdr Qgras erarens

(4)
(B)
(€
(D)
(E)

2,40,000
2,569,200
2,55,000
2,b64,300
ehlenL. Glaflwelidena

112. What is the importance of Thirukkural as a secular literature?

(&)

(B)
(C)

(D)
(E)

Reading Thirukkural strengthened the secular vision of the
founding fathers of our nation

Its foens on human welfare

Being secular, its values are not just confined to any particular
religion and it is applicable to the entire humanity

All the above
Answer not known

wgeriupp Fasdlub rap auamsld dms@paten wadusgeud wrg 7

(A)

(B)
(C)

(D)
(E)

AXXX/2021

BonsEnedr eurdlly Bog Brlel SIS gen@eufi&afien ngs sriLmhp
senenweni auelenniu@ssug)

gl hevenen pelflmssin saflsganh

ThS G SOOI s wiLS g heren Geosduinnsaph Edaerg wrgiii
Wpenwdgd Gurmhbab sefligea

Giudsam. enemdhs)h
cilen Qaefliuaildena

ad



113. A man bought an old bicycle for Rs.1,500. He spends Rs. 500 on its repair
and sells it for Rs. 1,800. Find the percentage of his loss

(A) 10%

(B) 15%

(C) 20%

(D) 5%

(E) Answer not known

goaut @ 1,600 &5 e vepu dfiadangew armd s@ao m 500 &g

uppssaar Bsgdomt. apgelld et oits Bdaemgeou m 1,800 & ipdpri
erailel B4aulT SemLuh Fen FEclldgiass sram

(A) 10%

(B) 15%

(C) 20%

(D) 5%

(B) &t Gefludfdma

114. O° Longitude and O° Latitude is located in
(A) Central Australia
(B) Brazil
(C) Atlantic South and West of Africa
(D) South Pole '

(E) Answer not known

0° Erés Crensyin O° sils Crenswyd sremiufieug
(A) wsfu sgevdlGreflum

(B) GCmAD

(C) QEer o ersmgs wpmd Gode = lnSfas
(I¥) Glman Himeuki&etico

(E) eflen QaflusBidoeana

a5 XEXX/2021
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115. Swine Flu is caused by
(A) Rubella virus
(B) Rhino virus
(C) HINI1 virus
(D) Alpha virus
{(E) Answer not known

uemdl smilFFena e Feulrdanih ene e
(A)  (pudar ey

(B) enpGanr eneumen

(C) HINI1 spaupei

(D) masur snsursio

(E) e Qaflueldaa

116. Which of the following fact is incorrect about monoeotyledonous plants?
(A) Seed has single cotyledon
(B) Leaves have parallel venation
(C) Fibrous root system present
(D) Flowers are pentamerous

(E) Answer not known

Blereumib @rellEdene greurhisdr upflu sppsefa sauprag ag
(A)  eflens groalsfeaamyu Gardr g

(B) @awsdio GaamGuris provene| srarduFdng

(C) sadllaits argliy sramiubpg

(D) misha vat sremiufdng

(B) el Gsfucidme
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117. Kamaraj served as the Chief Minister of Tamil Nadu for

118,

(A)
(B)
(€)
(D)
(E)

7 years
8 years
9 vears
10 years

Answer not known

sullhEm_gen psaennssrrs snogmgl Ll afifssy).

(A)
(B)
(€
(D)
(E)

T eumLniser

8 auymLhisdr

9 qumi_rasdr

10 cugmruser

shlen Glaflwelidena

(5T came into effect on in India

(A)
(B)
(€)

(D)
(E)

29th March 2017
18t July 2017

29t March 2016
1=t July 2016
Answer not known

GET @pflurdla peLgpapss aubss

(A)
(B)
(C)
(D)
(E)

28 wmis 2017
1 e 2017
29 wrirg 2016
1 9o 2016
eflen_ Qe dena

a7
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118. Which of the following statement is not correct?

(A)
(B)
()
(D)
(E)

Indus Valley People used burnt bricks

This civilization flourished in India about 4700 years ago
Harappa in Sindhi means "Buried City™

Hundreds of square seals were discovered here

Answer not known .

Epsar. smpnsafls g sauprang ?

(A)
(B)
()
(D)
(E)

fbg swobeual wisdr s Qetispament wdrufsSert

stomt 4700 marfsemss apdry FEsrsflsn warbss

anyuur eenp HApSComfE Gerdaiss “UmgueTL FSmb" g Gummer
FgIT angaflanen pihnésansster (pidlenrsar @ms, sard_Bss0ul Herarg
eflen. Qafhwehldamen

120. Which article of the Indian Constitution talks about “Taxes levied and
collected by the Union but assigned to the states™?

(A)
(B)
(C)
(D)
(E)

Art 201
Art 269
Art 272
Art 268

Answer not known

“gdu g @fssILCEL wEdldstul Gib, wrfloks EhEE pHsss S
avardisar Lpdl @HOAGE Bifu sirfluseniy s S8 sThs) erelr wWirg 7

(A)
(B)
(©)
(1)
(E)

XXXX/r2021

srgg 201
syag 269
susg 272
g 268
silen QEfveideane
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121. Chennai becomes the Indian city with metro Railway.
(A) First
(B) Fifth
(C) Sixth
(D} Second
(E) Answer not known

Brfw e, Geavenan parb, Guw Grr Emudd Cemey GararL
ESTLDMHLD

(A)  apgerag

(B) mpsrasm

(C) =ymireus

(D) Brem_raug

(E) sflen. Qafuafldana

122. How many political parties participated in the 1951 First Indian General
Election? -

(A) 54

(B) 64

(C) 74

(D) 84

(E) Answer not known
1951 - mein(n pencG@upn apsd @idw Cdurgsd Gargdld Gumimguliie
S FlEer erdgenan?

(A) 54

(B) 64

(C) 74

(D) 84

(E) &flen Gaflueaidena

4] XRX2021
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123. Who is the first Indian transgender to be honoured with ‘Padmashri’?
{A) Satyasree Sharmila

(B) Prithika Yashini
(C) Narthaki Natraj
(D) Tamilselvi

(E) Answer not known

‘upod s Qupp wed Gy Sophms w7
(A)  sgwid egimflar

(B) @ffanr wralaf

(C) prssd plyng

(D) sBips Qewed

(E) sl @aMucidame

124. During 1857, the peasants had to pay heavy taxes in the form of
(A) Land Tax
(B) Customs duty
(C) Revenue Tax
(D) Service Tax
(E) Answer not known

1857—b guwrerarsdr sflsors Gegés Caamgulints aufl
(4) B el

(B) &ms euf

(C)  suguwrar aufl

(D) Geenau aufl

(E) eflen. Qeflweildena
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125. Home rule league in Bombay was formed by

126.

(4)
(B)
(C)
()
(E)

Bharathiar

Mrs. Annie Besant
Nehru

Tilak

Answer not known

uburifdy searenrfl spasems Camppeiszeu

()
(B)
©)
(D)
(E)

The

LimpSwimi
Semuwodl. serefiblusem

Gm
LAETER]

alan Csflwelldens

Central Vigilance Commission was established on

recommendation of

(A)
(B)
(C)
(D)
(E)

Administrative Reforms Commission

National Development Council

Santhanam Committee on Prevention of Corruption
Law Commission

Answer not known

< ENEETILILD SHEOSHHLILIL L &

(A)
(B)
(©)

(D)

(E)

Bireuns Frémés i evearib
Gadlw euarirsflé @op
shanamd snpd SHUL G
FL STl

elfen Ggflwebldaw

wapeletr uflbgenrller suquuenulé wiHw  sawsrenfiiy
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127. The Chief Justice and other Judges of the Indian Supreme Court are
appointed by

(A) The President

(B) The Attorney General
(C) The Governor

(D) The Prime Minister
(E) Answer not known

Bipdlu eée flloeap soamn BHuS vomd Gp EHudsoa Fludiouen
(A)  Eyurss seseut

(B) gpevaranwn GLILO ST (S T

(€)  sm@spn

(D) dgswi

(E) eflen Qeflueildana

128. Which Amendment has made provisions related to ‘Nagar Palika's
(Urban Local Governments)?

(A) 73" Amendment Act
(B) 75t Amendment Act
(C) 74t Amendment Act
(D) 70t Amendment Act
(E) Answer not known

“mat urells” s b srihs Ampss — Z4(HLD.
(A) 73eug s Smgmb
(B) 75eug sl Smasin
(C) 7amug s L Hmssd
(D) 7oaug o1 Amasd
(E) &l Qafluciidenm

XXXN/2021 42



129,

130.

Which Union Territory has its own elected Legislative Assembly?
(A) Chandigarh

(B) Lakshadweep

(C) Puducherry

(D) Daman and Diu

(E) Answer not known

Eipsasim_cupmer eris welluear GArisen serdlsdny wisamd CatplbisfastiurL
FULnenmih Earam g

(A)  sebmigst

(B) ecspfasan

(©) ugsh

(D) Lmosr oppid iy

(E) eaflan. Quiflwealidena

Who was the best commentator on the Thirukkural?
(A) Kalamegapulavar

(B) Agastiya

(C) Parimelalagar

(D) Kambar

(E) Answer not known

Amagpar @iiss Aohs faés o epllenar o maunsSiurel Wiy
(A) srenGuaiLjweauf

(B) =scufui

(C) ufiCGuoagst

(D) =buf

(E) dflen. Gafluaiideana

43 AN2021
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131. In Lok Sabha, how many members are elected directly by the people?
(A) 453
(B) 354
(C) 543
(D) 545
(E) Answer not known

wiseraedley  wEsemd  GEpgwrs  Caipls@sstuin e mliSlersafien
GTERTERTIEENS eTeleuaTay ?

(A) 453
(B) 354
©) 543
(D) b4b
(E) eflen. BaMusidema

132. Which article of The Indian Constitution deals with fundamental rights?
(A) 14
(B) 19
(C) 32
(D) 51(A)
(E) Answer not known

Atdu srfluaaolien ass aifl smgouen o fewsaar gllss dassdpg
(A) 14

(B) 19

(Cy 32

(D) 51(A)

(E) el Qpfluaiidena
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133. Find the LCM of % &' and a’8’
(A) o’
(B) a'd’
(€) a%
D) ab®

(E) Answer not known

a® bt Lo HmiLD a'h’ -gr 8.8 sndrs. _

(A) o'b* :
(B) o™’

(C) a?b°

@) ab°

(E) el GQaflwshicrenas

134. 4 typists are employed to complete a work in 12 days. If two more typists
are added they will finish the same work in days.

(A) 7
(B) 8
€ s
(Dy 10

(E) Answer not known

4 U |_FsEdt gqum Geumaeay apubss 12 Brdasd ahsgstanadamant. Guogib, 2
gL drsirgdr sapgarss Geibard, oGs Gampeny —— Brisafle Eaig
AP .

(A) 7

(B) 8

(€) 9

(I 10

(E) e Gflweldena
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135. If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in ——
— days.

(A) 5

(B) 25

(C) 50

(Iy 56

(E) Answer not known

& puffsdt 5 Gamewsaa 5 praseid Gelg puout aefld 50 putsd S0
Geauenasanar ———— mransaflay Qalg pw i,

(A) o

(B) 26

(C) 50

(D) &5

(E) dflen Ggflweiidens

136. How many terms of the series 14549+ ... must be taken so that their
sum is 1907

(A T

(B) 8

(C) 9

(D) 10

(E) Answer not known
1+54+9+.... earp Ggm fld asoa o mliysenad solgeamd smEsd 190
flen_&@.

A} T

(B) 8

(C) 9

(D} 10

(E) efea Gsfuefidbans
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: e e
137. Simply : AT

(A) P +xys+y”
B) 2*-ay+y?
(C) = —oy=y
() gy
(E) Answer not known

a .

e

-y y-x
(A) x*+xy+y’
(B) **-xy+y
Q) = -m-¥

(D Lf+xy-y

() eflen Qaflwaildana

138. Which right has been abolished by the 44 Amended Act, 19787
(A) Right to freedom of religion
(B) Right against Exploitation
(C) Right to Property
(D} Right to Constitutional remedies
(E) Answer not known

18786 4daum Srfuaaniys sl g dmsasfdaug Bssiule o few g7
(A)  swws sspdrsdhsne o Meno

{B} STEmL_ene G{HOLSHETEr = flann

(C) Qengmflenn

(D) srflueeoiy el Srasesssrar o fan
(E) sflen Qaflueldena

47 NXXX2021
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139. ‘The Right to Information Act’ was passed by parliament on
(A) 20 October 2005
(B) 21 October 2005
(C) 25 October 2005
(D) 12 October 2005

(E) Answer not known

“peaud siflub e flaws sl b unreswapsfd BapGappuul L mrer
(A) 20 =&GLrui zo0s
(B) 21 =4C_rmuf zo0s
(C) 25 mBLmur 2o0s
(D) 12 =&GLrui 2005

(E) eflen Qafluaiidana

140. The first state to be created on Linguistic basis was
(A) Kashmir
(B) Tamil Nadu
(C) EKarnataka
(D) Andhra

(E) Answer not known
apgdr Gombleuntl wrflaow erg 7
(A)  swepbi

(B)  sullpgpr®
(C)  srmr_sr

(D) gyidlgn
(E) &l Qaflucidaa
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141.

142.

Who was called “Madurai Kondan™
(A) Aditya-I

(B) Rajarajan-I

(C) Raja Raja-II

(D) Parantaka-I

(E) Answer not known

“gienr Gerar_mdr ey LSPOLILL QT WITT 7
(&) gpgeomd BsHun

(B) apgeomd Blomgrmegen

(€) Brsirmbd Gymggnger

(D) gpmemb Lpnhsse

(E) e Csfualidame

Headquarters of West Central Railway
(A) Mumbai

(B} Hubh

(C) New Delhi

(D) Jabalpur

(E) Answer not known

G wifu nAdGandar seamenoudy b
(&) ey

(B) pfued

(C) um GLadl

(D)  gudyr

(B) sflon. Gpflusiidama

4%
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143. Indian Constitution Drafting Committee’s Chairman
(A) Dr. Rajendra Prasad
(B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Gandhi
(E) Answer not known

EEHw sirfluaenniy amreays Eupelan sanarau
(A)  Lrsod @orGmidy Grens

(B) maugprand Grn

(C) imsct. @i swCugsmt

@) anpd

(B) efe Gsflusiidena

144. Article 63 of the Indian Constitution refers to
(A) Vice-President
(B) President
(C) Prime Minister
(I}  Governor
(E) Answer not known

@EEw anfud sooonfar srig 63 EiludGeaus
(A)  gieven Eunss seoaa
(B)  @hwrs gt
(C)  dirgw whdA
(D) apemmi
(E) eften Gsfweidema
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145. Who is the chairperson of Niti Aayog?

146.

(A)
(B)
(©)
(D)

Prezsident
Prime Mimister .
Vice President

Supreme Court Judge

(E) Answer not known

(A)
(B)
(C)
(D)
(E)

Which Mughal King killed the Sikh Guru Tegh Bahadur?

(A)
(B)
(©)
(D)
(E)

| Hlfl 2CwinE ~Flen Feneoeui wmt?

B RI0R BRI

g Wi

FicoanT SIS geomallr
=55 fPwann fHUS
clenL Gpflusiidema

Akbar
Aurangazeb
Shahjahan
Jahangir

Answer not known

Eadlw sy Caty usgiany Garaa BHlg apsamu weienm wim?

(A)
(B)
(C)
(D)
(E)

=BT

e AT W

Gl T ER TN

SRRDTEIAT

aflenL Gafiweticoene

b1
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147. Which year has a special significance in Indian Economy as far as
Economic Reforms are concerned?

()
(B)
(C)
(D)
(E)

1952
1981
1991
2001

Answer not known

(B Aurmerrgrrgeans  Qurpdsawennbls s
Frflmsssdig apsduggieud wnlps geaprEn 7

(4)
(B)
(C)
(D)
(E)

1952
1981
1991
2001
ailen_ Gafiueiideaa

148. Net National Product 1s

()
(B)
(C)
(D)
(k)

Gross Domestic Product — Depreciation
Gross National Product — Depreciation
Net National Product — Depreciation
Net Domestic product — Depreciation
Answer not known

Blar Bri @ e pusd eremug

(A)
(B)
(C)
(D)
(E)

XXXX/2021

Clergs edpm @ epusd — Calioremb
Gongs prif e huss — CGsiuomeann
B pr-@ apusd - Caiuorens

flay o drm § 2 husdsl - Gsdismenh
etlenL Glaflweiichenan

a3
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149. When a person lives below the minimum subsistence level he is said to
live in
(A) Absolute poverty
(B) Relative poverty
(C) Abstract poverty
(DY True poverty
(E) Answer not known
wmpaste Geastigu @Gaptsuls asfamsss G gmear eumupbd sumenn
Hlenaaniu Gleueumm Sspemb
(A) gpoperowmer eugiano
(B) uiSi@m augenwn
(C) smis wugenwn
(D) ez awenw ufenLn
(E) e&flen Gaflwslidens

150. The chemical name of Aspirin is
(A) Tartaric acid
(B) Benzoic acid
(C) Acetyl salicylic acid
(D) Per chloric acid
(E) Answer not known

<z Gl fein wmbdler CeoudliEiw
(A) Crromflé Sl

(B) Guemeurils sullesh

(C)  iflendy snadlfleils yflab
(D} Qui @Garmfls snfend

(E) <flen Bafuedmen

a3 XXXX/2021
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151. Plant diversity is greatest in
(A) Tropical forest
(B) Temperate forest
(C) Deserts
(D) Farmlands

(E) Answer not known

grau] websusnsmn ls oflsnrs sramiiuE g
(A) Qeutiu e e srEisdr

(B) s Geudiu wewm_s srisdr

(C)  urenaveueisen

(D) efleusmy Bediser

(E) e Gsflweiasman

152, Which of the following disease spreads due to the contamination of
drinking water and milk?

(A) Scurvy

(B) Malaria

(C) Dengue

(D) Typhoid

(E) Answer not known

Eeneumeuanaubmien, @bt winb urd wreuBeusrd LFaussgw EEmL g7

(A)  dvated]
(B) wCaflwn
(C) Qg
(D) e umi@

(E) eflen QsRusellesna
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153. Lord Cornwallis introduced the
(A) Ryotwari system
(B) dJagirdar svstem
(C) Mahalwari system
(D) Zamindari system
(E) Answer not known

sriereumsiia Giny Garer) abss
() muggert gpanp

(B) gritsrf gpen

(C) wadeaunfl qpemm

(D)  gpfengmil penp

(E) e Gsfvdbena

154. If the cost of a dozen soaps is Rs. 396, what will be the cost of 35 such
soaps?

(A) 1515
(B) 5511
(C) 1155

(D) 5115

(E) Answer not known

an Lear Gami safien eflenar o5, 396 erafldr 35 Cemlisaflan chlenay ereman?

(A) 15156
(B) 5511
(C) 1155
(D) 5115
(E) eflan. @sfwefildema

54 NXz021
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155. What sum of money will earn Rs, 500 as simple interest in 1 year at 5%
per annum?

(A) Rs. 50,000

(B} REs. 30,000

(C) Rs. 10,000

(D) Rs. 5,000

(E) Answer not known
Sargpe 5% ey dgsdd gf gamche - 500 s sefl wlgunss s
BIEED GTEIGIETER| T

(A) . 50,000

(B) @ 30,000

(C) . 10,000

(D) . 5,000

(E) d&ilenL Glgfwehlsbanen

156. A person decides to create a fund to be invested at 10% per annum to
provide or prize of Rs. 500 every vear. The Initial investment is

(A) Rs. 4,000

(B) Rs. 5,000

(C) Rs. 61,000

(D) Ras. 5,500

(E) Answer not known

@5 But geibams sanfib m B00 ufls aphEusiens sarfes 10% aan
apenpuiie) apseb Gelw g Bfowu o manss gpyey Qeldprt eafléa symbu
WaEdH srews

(A) m. 4,000

(B) e 5,000

(C)  m. 61,000

(D) . 5,500

() aflen Qafwueidaeanea
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157. Find the LCM of the following :

158.

(A)
(B)
(C)
(D)
(E)

x® =27 (x -3 x*—9
(x=3Nx+3(x® +3c+9)
(=37 {x+3x+9)
(=32 (x+3(x* +3x +9)
(x=3P (x+D(x*-3x+9)

Answer not known

SewaurevenaubBlne 5. 8.0, srens -

(A)
(B)
(C)
()
(E)

2 =27 (x-8¥x% -9
(-3 {x+3) (" +8x+9)
{x-3)"(x* +3x+9)
(x -3 (x+3)(x2 +3x+9)
(x—=3)% (x+3)(x2 =82 +9)
eflen Wafweildama

Which of the following schedule deals with language?

(A)
(B)
(€)
(D)
(E)

Eighth Schedule
Eleventh Schedule
Fourth Schedule
Sixth Schedule
Answer not known

\Heimeumib &L euenamsaticn Gwomblsdr Lpiiu S0 eenear e ?

(A)
(B)
(©)
(D)
()

STL L MET) <S{LL Gl amy

LIS T e g <4 LG an e
[BITEMTETELU T 5L L G an 6T
LM TEUF Bl L GnemT

silenL Esfwelldana:

a7

XXXN/2021
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159. According to Thiruvalluvar ‘What is friendship with the good compared

7

(A)
(B)
(€)
(D)
(E)

Having friends who make our heart happy
Having books that five perpetual delight
Having a face that shows anger

None of these

Answer not known

Lflatgrpn  wdnyen et Ggmfy  cest Guranng  erer  Hmeusmigseur
aomedl mm 9

(A)
(B)
(C)
(D)
(E)

HEES BULg Gumeimng
EelcGlsmpin mreé munbh Gumeme

Benemgzany Bilig. sertiuGsnt Gard Gumenpg

Eleumfieo ermubldensn
aflen Gsflwefdens

160. The Comptroller and Auditor general of India is responsible only to

(A)
(B)
(C)
(D)
(E)

The President

The Prime Minister
The Supreme Court
The Parliament

Answer not known

Erfwus genaennd mamdE  oHph  gelldmss  men  Senwedt  LINmEE
Gumptiyen el ?

(A)
(B)
(C)
(D)
(E)

XXXX/2021

Sl wires Sanaie
\Slrsin ayenindre

o &5 Bdlioermib

LI T @RLOE LD
shlen Ggflwusflaeaen
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161. In which of the following day onwards the use of plastic was banned in
Tamil Nadu?

162.

(A)
(B)
(€
(D)
(E)

156%™ August 2018
1#t January 2019
26t January 2019
10tk August 2018

Answer not known

shpEm g  eandlellmim  Gemmeugd Gurmlsdr  swenufsZieusm  gen
GlFoI LI (ReTarg 7

(&)
(B)
(C)
(D)
(E)

15 SypEau’ 2018
1 meneulfl 2019

26 gemeul 2019
10 yse’ 2018

eilen GQaMflweilcens

When was the first Nuclear test conducted by India?

(A)
(B)
(C)
(D)
(E)

1998
1999
1974
1975
Answer not known

EnHuwraird ahs pamE opsen apenDLTe e s Gengenan BLESLILILLE ?

(A)
(B)
(€)

(D)
(E)

1998
1999
1974
1975
ellenL (&g iwiehlcdhanan
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163. Choose the correct term from the following :

"The quantity of heat required to raise the temperature of a body
through one degree”

(A) Heat conduction

(B) Heat radiation

(C) Heat convection

(D) Heat capacity

(E) Answer not known

&G Carfssuu Bearer sapm eraemear @hlsdps

“Gm Qun@aﬂs&r Qeiufleaay gn gdfl cwurdizeshs Gsealu@h
Aeutiuwmghd”

(A) Qentiu sLgsd

(B) Qeuiu sfirelises

{C) Gaiu seemhb

(D) Qeuwiu ehusdpsn
(E) eflen QaRuishicoenas

164, Which one of the following is the storage form of carbohydrate in plants
and also the principal source of energy in the diet?

(A) Glucose
(B) Cellulose
(C) BStarch

(D)) Fructose
(E) Answer not known

LB 6 (1 e [ T gireu s aflon smiGur-enanl Sm Hisefler LT TR T
Aurmerrsab eomap L sHd abndlen upsareans emTorsab dekEaug as

(A)  @EsCsnn

(B) QeagGamen

(C) soob

(D) GgaGmre

(E) dar Gefusdaa
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165. The exchange of genes between the homologous chromosome takes place
during the stage of

(A) Zygotene

(B) Pachytene

(C) Diplotene

(D) Diakinesis

(E) Answer not known
G&s semenn malw FEmEGorismbsgnie @e Cu gar wrhph FenLGumn
Glgmem '
(A) epeneCamsdm

(B) CGusmswen

(C) wuCarmedn

(D) CwrensGlanebley

(E) &ler Qefluaidae

166. Jawaharlal Nehru was born at
(A} Aurangabad
(B) Agra
(C) Srinagar
(D) Allahabad
(E) Answer not known

mevamiard Cpm Sphs sar
(A)  =eyrisTung

(B) s

(C)  Bpsh

m} SHEUETLITE

(E) &flen_ Gsflweldbena
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167. Where is Chauri-Chaura village located?
(A) Madhya Pradesh
(B Uttar Pradesh
(C) Gujarat
(I} Maharashtra
(E) Answer not known

Cearfl-Ceearym Symom aiig saobsemarg ?
(A)  wsBu ArGssn

(B) egfirn Gylgsb

(C) smms

(D)  wargregcgn

(E) eflen. Asflwelldena

168. Name the state where the high quality black mica is obtained in India?
(A) West Bengal
(B) Uttar Pradesh
(C) Bihar
(D) Andhra Pradesh

(E) Answer not known

Bpdwmelldy fe b Wwnlfg Smeowwren eoindar ehs onElasda @b
Hen_sdlng +

(A) Gl surismend
(B) =s8r GrGssn
(C) Ssmr

(D) supdy SrCsean
(E) eflem s watlebenso
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169. Features of Indian federal system are

1.
2.
3.
4,

5.

(A)
(C)
(E)

Division of powers

Separation of powers
Independent Judiciary
Leadership of the Prime Minister

A Written Constitution
1,2and 5 (B) 1,3and 5
1,4and 5 (D)2, 3and 5

Answer not known

Effn s m” fller Apdubsisearearene

1.

2,

(A)
(€)

(E)

sifamrm Hflay
SEEryl udliey

sasdmomar Filoemmb

g genarento

GT{LREIIC L STH LIQEDLIL

1, 2 whpubd 5 (B) 1, 3 wpmib 5
1, 4 wpmib 5 : (D) 2, 3 whme b

aifen. (g fMwehldana
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170. A man saved Rs.16,500/- in ten vears. Each yvear, after the first, he saved
Rs.100/- more than in the preceding year. Find his savings in the first

Vear.

(4)
(B)
(C)
()
()

Rs.1,100
R=.1,200
Rs.1,000
Es.1,250

Answer not known

@HeIl 10 ansellda Csihs Curiss Geres @m.16,500/- apsd aumLsdbsl
Bpe geideuns suenfEib whmsy el el @5.100/- flswors Caligsrd
wae auml Gy Csrasamus snans.

(4)
(B)
(C)
(D)
(E)

. 1,100
em. 1,200
em. 1,000
as. 1,250
aflen Glaflwueildenss

171. Find the principal that will yield a simple interest of Rs.300 in 3 years at
2% rate of interest per annum.

)
(B)
(C)
(D)
(E)

Rs.5,000
Rs.3,000
Rs.2,000
Rs.1,000

Answer not known

Serp el ofisb 2% digh 3 HEThEE sl el @300 Saldmib el
“HFWE &SI

(&)
(B)
(C)
(D)
(E)

XXXX2021

5. 0,000
e o, 000
e, 2,000
e, 1,000
ahlen GlgMwsildema
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172. A shopkeeper allows a discount of 10% to his customers and still gains
20%. Find the marked price of an article which costs Rs.450 to the
shopkeeper.

173.

(&)
(B)
(C)
()
(E)

@0

Rs.500
Rs.550
Rs. 600
Rs.650

Answer not known

S@LGSNTT ST QmgS@maUTeiaEndE® 10% sdugruy sheh 20% Ferub

oL fapnt. gm Cummaid o arain dlaw 450 eafld, sutlummeilar &ihlss
cHlanaenius sreis.

(A)
(B)
(€
(D)
(E)

a5.500
5. 050
e 600
- 620
shleni Clsflwehldensy

Find the sum to infimity of the series 108, 36, 12, 4.....

(&)
(B)
(©)
(D)
(E)

216
162
160
206

Answer not known

Sleraymit aoweldls Qamfar sbgd sndrs 108, 36, 12, 4.....

(A)
(B)
(©)
(D)
(1)

216
162
160
256
cllen WEflweildana

G5 XXXXN/2021
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174. 32:13:29?

(A)
(B)
(C)
(D)
(E)

10
85
42
12

Anawer not known

32 : 13 268?

(4)
(B)
(C)
(D)
(E)

10
89
42
12
aflan GWaflwelldena

175. The average of first 100 natural numbers is

(A)
(B)
(C)
(D)
(E)

515
all.5
51.5
a0

Answer not known

(pged 100 B erensaflean srreflumeng

(A)
(B)
(C)
(D)
(E)

XXXX/2021

8b

50.5

bl.5

a0

aflen GEgflweallsens
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176. The cost of 15 chairs 1s Rs. 7,500. Find the number of such chairs that
can be purchased for Rs. 12,000

(A) 24
(B) 26
(C) 28
(In 30

(E) Answer not known

15 prpsrdisaiier &flee m. 7,500 eallsds m. 12000455 ofsenen BHrosTedlsd
LIRS GDILD P

(A) 24
(B) 26
(C) 28
(Dy 30
(E) dfen Qsfluchldens

177. (7 ___ 968)+ T9x 4=512
(A) 10185
(B) 10190
(Cy 11080
(D) 10180
(E) Answer not known

(7___ 968)+ T9x4=2512
(A) 10185

(By 10190

(C)y 11080

() 10180

(E) sflenr QaflwsBeemen

BT RAOXN2021
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178. Which one of the following is not in the state list?
(A) Fisheries
(B) Local Government
(C) Taxes on mineral rights
(D) Major ports

(E) Answer not known

Spsav_apmdr em wrflad ulgudld Cermas

(A)  Bandig Qsrde

(B) = dvermcd siperiisod

(C) saflwhisd Barar aifl o fennser
D)  ppsdu genmapsrissr

(E) eflen GlaMuwelldeman
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179. The Sarva Shiksha Abhiyan programme is being implemented since
2001 for the significant objective of

1. New Schools

2.  Residential faculties

3. Transportation or Escort facilities

4.  Uniforms and free meals

Which of the statement is incorrect?

(A) land2 (B) 2and 3
(C) 3andl (D) 1 and 4

(E) Answer not known

sieu Ssepr sdurdr Sl b (s@aamssn saal 0 ib) 2001 Spb s
pEe pauiSsOLlL gen ap&dl Grrésb

1.  yflw wdraflser
2.  udellllé shd unsmbh cusdl gHuBEsS0
3. urgsrOULET sagw Gurssarss

4. EmeoL whmbd wHu o amey

EGy odren sl agy | eraneu sflwmenenay Syees?

(A) 1 whywn 2 (B) 2 whmb 3
(C) 3 wpped 1 (D) 1 whmd 4
(E) el Qsflwelidenas

(3] XXXX2021
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180. When did the ‘National Commission on Floods' set up in India?

(A) 1982
(B) 1996
(©) 1972
(D) 1976

(E) Answer not known

Bpdwrdld enuCung “Caflu Jendrer pleys @wup” AmsutucLg?
(A) 1882

(B) 1996

(€) 1972

(D) 1976

(E) cfen QaflweBdbema

181. The control rods is a nuclear reactor
(A) absorb neutrons
(B) accelerate neutrons
(C) slowdown the speed of neutrons

(D) absorb excess heat produced in the reactor
(E) Answer not known

e & e ananulleh drar sHOurH Cardsdr

(A)  fluy gremsemer o fligss

(B) flulgrensafler Caisgama —iflsfsen

(C)  Fuygrenaaflear Caisbas sapaEh

(D) eemmullsh Gaafumg ik sifls sera) Cadiugeas o flgsd
(E) el Gafudioma
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182. Which Round Table conference was participated by Gandhi?
(&) First Conference
(B) Third Conference
(C) Second Conference
(D) None
(E) Answer not known
ahs el Guoeng Lt:rrj}r'rL'..q:iﬁJ srikdl sahg ST
(A)  apa@
(B) epenpmd wrp@
[(C)  @remmb wrpr
(D) germifdene
(E) cflan Gaflwelichane

183. Which of the following mode of transmission eycle is exhibited by Dengue
Virus?

(A) Man-Man

(B) Man-Birds-Man

(C) Man-Mosquito-Man
(D) Man-Pig-Man

(B} Answer not known

Sipssan _aubhmer Qs eneuren ahg Spnd apanpuild Lreyding ?
(A) Lnat| Heb- el Eem

(B)  weflge-1imeaneu-Loefl g

(C)  wellgdr-Bans-waflgsn

(D)  welgen-usngl-weflzen

(E) dflen Gaflwsidana
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184. According to the 2011 census the lowest density of population is recorded
in the state

(A) Mizoram

(B) BSikkim

(C) Arunachal Pradesh
(D} Nagaland

(E) Answer not known

2011 b el wEEST Ggrens samslsbiinfeniig, @mannainar w&sdr =2 itsd
Lfley Geddu L inmbieoh

(A) BGgmb

(B) #Aadn

(C)  wmarrsse SrGgmb
(D) pramengs

(E) e Qafluetdemean

185. Which 1s Gypsum among the following?
(A)  CaCo,-2H,0
(B) Ca{OH),
(€) CaSO,-2H,0
(D) MgS0, TH,0
(E) Answer not known
s erenuig SpdsanLaibbld o7
(A) CaCo,-2H,D
(B) Ca(OH),
(C) Ca80,-2H,0
(D) MgS0, TH,0
(E) eflan Qsflwehldema
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186. Who was the founder of Suthantra Party?
(A) O.P. Ramaswami
(B) P.S. Kumara Swamy
(C) Rajaj
(D} Kamaraj
(E) Answer not known

sspdlrr sl fleows Carhpelgsat wrk?
(A) O.P. prosmdl
~(B) P.B. guwrrsma
(C)  gmgrgl
(D) smogrsg
(E) efler. Qufiuchaema

187. The first Metro Rail Project was commissioned in India in the city of
(A) Chennai
(B) Kolkata
(C) Delhi
(D) Mumbai
(E) Answer not known

@pHwurale apger apsedles Gl Grm qulildy Hl b SempdsliulL BErLD
(A) Ceeranen

(B} Gandsssr

(C) Qusoall

(D) apivenu
(E) sflen Qaflwellcansn
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188. What is the genome of AIDS virus made up of?

(A)
(B)
(©)
()
(E)

DNA

RNA

Chromosome

Gene

Answer not known

erifl e ensure enhs gllGeanmond yeang?

(A)
(B)
(€)
(D)
(E)

DNA

RNA
@ErmGrrGerh
e

cilen. Eafwebldeana

189. Find the odd one out Related with heat in one action

(A)
(B)
(©)
(D)
(E)

Conduetion
Convection
Absorption
Radiation

Answer not known

Gaupul B Bmliues sy
Gaicugsien Fbupsiul L g - gon Sawela

(A)
(B)
(©)
(D)
(E)

XXNX/2021

EL_GHEd

FEUETLD

e I me e

sfrelsd

sitenL GEflwaildena
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190. Which one of the following is correctly matched?
(A) Ettayapuram —~  Collector Ash
(B) dJallian-Walah Bag Tragedy —  Hunter Committee
(C) Swaraj Party —  C.R. Das, Motilal Nehru
(D) Prohibition —~  V.0. Chidambaranar

(E) Answer not known

\Femeumauareuhmer arg sflwrs Glummbdhydmeng ?

(A) el wymb — sQedLi sy

(B) gmreflwer cumeorurd gumnb —  godr i sl

(C) swmgiu s 8 —  C.R. sre, Guordlemd Cmm
(D) wgeflass —  ale. Agbugerm

(E) eflen Geflueciiaanas
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191. Which among the following food chain is an example for Grasszland

ecosyvstem?

(A) Grass -+ Deer - Fox — Tiger

(B) Grass - Grasshopper + Frog — Snake —» Eagle
(C) Grass - Frog —+ Snake - Elephant

(D) Grass - Cattle —» Lion

(E) Answer not known

Spssan_eupmdr YdGauel wem asfdn eeomad shidlad om?

(A) ud, wrer, A, Gl

(B) uya. {Hmr_[},‘»daﬁs.:ﬂ. SEUEnaT, LIMDBL), S
(C)  yev, geuenar, LmbLy, wWrenan

(D) e, srdparLsdr, Adisin

(B) il Qpflueidena
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192, Usually the population of a Corporation is

(A) 5 lakhs

(B) 7 lakhs

(C) 8lakhs

(D) 10 lakhs

(E)}) Answer not known

FNGTHERTONS G wresrmfulsr whsdr Haras

(A) 5 enlsid

(B) 7 eamb

(C} & eaisd

(D) 10 elsb

(B) e Qefludidma
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193. The First five year plan of India was launched in
(A) 1947
(B) 1951
(C) 1956
(D) 1961

(E) Answer not known

@ndwrehla apsemb phsrarEs S b Bl penDluBiSsliuc L Sy

(A) 1947

(B) 1951

(C) 1956
(D) 1961

(E) eflen. Qaflwsilcana
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194. Language is the means of
{A) Transport
(B) Irrigation
(C) Communication
(D) Spirituality

(E) Answer not known

Gliomyfl eremug

(A) Curdwmainss

(B) grounsamb

(C) Eenesriivjhemeb]

(D) eesrraylyfeauwmens

(B} eflen Qaflweldana
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195. Which gas is release the refrigerator?

(&)

(B)

(€

(D)

(E)

CHa

Cl

CFC

Answer not known

@atiramsan Gucigufeilmbs SeuefiGumb aury e 7

(A)

(B)

(€)

(1)

(E)

XXXX2021

CH4

Cl

CFC

eflen. Gaflwelldamen
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196. The Governor is appointed by
(A) J udge
(B) Prime Mimster
(C) Chief Minister
(D) President

(E) Answer not known

SIEEHDT Hlunblliuel
(4) EAug

(B) dggio wid
(C)} opser syemofsi
D) Gwurss gooar

(E) sfen Qafweldame
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197. Forty-Second Amendment Act came into force in the year

(A)
(B)
(C)
(D)
(E)

1547
1976
1967
19568

Answer not known

42-augl 5L JEspd peLgpaniE aibs S

(&)
(B)
(©
(D)
()

1947
1976
1967
1958
silen Glgflusl dena

198, The First Indian Governor General of Independent India was

(A)
(B)
(€
(D)
(E)

Lord Mountbatten
Lord Rippon
Rajagopalachari
Lord Canning
Answer not known

sEbEr Biduralen npad Bikdw seuternt Gaenye

(A)
(B)
(©
(D
(E)

XXXX/2021

Guerar Gui e er 1Simy
i (WO Ll

B GamumasFsmfl
srafli Sou

ablenL Glgiluell dene
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199, The major port along with West Coast

200.

(A) Kandla
(B) Chennai

(C) Paradip
(D) Kolkata

(E} Answer not known

G, SLHesmruild Senwohgidrer Glufhu geonpsb
{A) smedor_eom

(B) @& esTemat

(C) v &

(D) Gsrdosdsn

(E) afilem @afhusfildoeneo

In the year 1951, Population growth rate is called
(A) Year of Great Divide

(B) Year of Population Explosion

(C) Year of Population

(D) Year of Small Divide

(E) Answer not known

1951 @b Speo(p) whseT Gsnems Ougpds ofsh Sdiarm
SemiphsUUHISID S

(A)  @upid Giflehlemen et (bl

B)  dsdr Qgnens Glaug (L) e (5

(C)  ndscr Glanams i)

Dy A Slerey <, ston (b

(E)  ohleon @sflwafiléosmen
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